1. Thisisa pretty good drawing of what Thomson thought a Plum Pudding NEUTRAL hydrogen -
atom looked like. It shows a positive circle with one electron init.
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2. Go through the boxes below and do the following: ’
e circle any metal that has a variable charge
R e crossoutasypolystomicion = = — —
2- 3t 3- ¥
COg Al P 04 Au

3. Go

3

R0
y\roug
metal iofs a%
that tells the charge. For example Fe** is named lron(lil)
Polyatomic ions just get whatever name is on your photocopied ion sheet given on Tuesday.

metal ions that don’t have a variable charge are called by their element name. For example, sr'is

ave a

just named strontium.

4. Do steps #2and #3 on the boxes below

"boxes above and write the name. Remember the wyles fgr naming; .~
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Key to understanding the cartoons on this sheet:

1 chlorine atom

1 hydrogen atom

1 oxygen atom

1 nitrogen atom

1 carbon atom

o

Name the following
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How many atoms, total, are in this box? ‘2

How molecules are in this box? ﬁ)__f.

What is the formula of this compound.’g CH b{

Which would be an acceptable way to say what'; in this b(.)x
a) CgHyp b) CsHis c) other q C"\i_{.

What is the molecular weight of this substance? (the units of your

answer should be in g/mole. Your first step should be to look up the

g/mole in the periodic table)

compounds by combining the names you wrote earlier in this sheet:
—
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10. Na,CO, S"J {upA CN’LoAde

11. PbNO, ‘eﬁd (‘) n'+r0$€ 3

12. AL(CO5), Okh LAUM WM.P

13. VCO, ymd(gq i I ’ CO;EG h‘k

18. In the table below, fill in the formula of the ionic compound below its name:

14. Fe(NOs); _)M @M’Tm

15, (narco,_ BMNONTUM CARBONATE

16. Au(NO3)s
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17. Fe;(PO!)Rm ‘

Ru(\1) PrasPHATE

Zinc sulfate Cobalt (Il) carbide Silver selenide Ammonium sulfide
70 SO SKIB <ky SKIP
Iﬁd(ll) itrate Silver oxalate Lead (Ivgzxidpe Mgnf/siu(m éxide
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Copper (1) sulfate Copper (Il) sulfite Sodium bicarbonate Strontium hypochlgrite
CS0y | Coso, | NES; | T&c(Clo),
Iron (1II) oxide Copper (1) chromate Tin (I1) sulfate Potassium bisulfate
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Situation I: Metal from first two columns of the table WITH a nonmetal
Element Name + Element Name + “-ide”

- von e\t s cr Cleumthisphride

-Situation 2: Metal from first two columns of the table WITH several nonmetals
Element Name + cheat sheet name

3. Caco, CO\‘CIUN GFLO'W‘k 4. AI(NO), ol uminum
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Situation 3: The metal on the left has a mysterious (variable) charge. \’ .\*e
Element Name + roman numeral that only tells the charge + element name + ide

S me(mjc\_) So\F.Je :
6. Cr,(CO), C'I\rahwm @) CN"aoM}Q :

The next two questions are about this 1) Thomson apparatus shown below:

1. What did JJ Thomson conclude was shooting in a line from left to right in this drawing?
a. positive electrons
< b. negative electrons .
2. In this cathode ray tube, line is bending up. Based on the direction the electrons are bending, Which to you

;itive and E is negative (LW l‘cebé'“‘ WI gL“‘d '
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. Dis negative and E is positive cvrve
e. Both D and E are negative P ‘ . ¥
f. Both D and E are positive. 9 |Cc

Finish the name by writing in the appropriate R

1. CrO; Chromium (E oxide
2. CrCO, Chromiumm) carbonate : :




3. PYNOs). Platinum (Egnitrate
4. PdO, Palladium @oxide

s AR Yioie EUTRF T, L oG caBr,

6. _JONIL NaOH 8. _ MO (eculol™ H,CO,
Which of the four situations above are applicable in
this compound? One or more may apply. Mark X for
Metal ___any that apply.
presen | = Situation Situation Situation
Formula 1? 12 2? 3? Name the compound:
7. PFs (yes/
no) _ i
8. V2(CO3); “(yes/
9. MgS r{yesD! ,
= mostesium Sunde
10. UF, (y&c/ !
no) ’

For the pairs of elements below. write the formula of the compound that would form when those two
elements combine and write the name of the compound.

1. Sodium and sulfur Nozg s.,JwM Sol‘Flol(

2. Magnesium and fluorine M Fz Magneo QUM'F{UOV\*
3. Beryllium and oxygen & O kf‘y"tm q(' w

Metal Which of the four situations above are applicable in
presen | this compound? One or more may apply. Mark X for
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5. NO (yes/ &
6. Fe,(CO;), (;:3-,/ r ) M*
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Finish the name by writing in the Roman Numeral ﬁ
11.CrO; Chromium oxide 13.Pt(NOs); Platinum (= ) nitrate
12.CrCO; Chromium (L carbonate 14. Pd;N, Palladium ( L— ) nitride
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Do any fourty four problems (some from front, some from back) for full credit. Do 100% for 6 pts out of Spts possible.

In the table below, fill in the formula of the ionic compound below its name:

HgCr07 (NH4);PO4 FeCO; "k _Sﬂs(Pola;z
MeE(Co aMmo AruM T carha 2 \nos 14(
(ot () ] "R i) T abankt] i (T)ohery
u CIOJi,Z NH;NO; NaCl Agl =
(‘M&}CL\ 0/ 0""”‘3\"\‘ _‘\{’r"o“ te Sodwm chloride | siher Iw)d’@
'CaSO4 PbO, d PbO Mg(MnOs)
Agitie | 1ok i@y | mpem
FeS ) FeySs KMnO4 Ca(OH):
T ron C_E) sulfide | ifon (XE‘BS“'F‘JQ P’T"“"lﬂ'.‘;d'm?& Catium k‘lﬂholt.
Mo(ClO; CoCl; CuBr, ) CoCls
denand] | Cooa b bl
e 3Pfrc'»\loro:}e : HZ: I}?rde W(I) " Cé‘“fm) (“MQ,
S €2(Cr207)3 FeCrO4 Fey(CrOa)s b (‘C? \
1 Fon(T b, ,m<n>(hwm~}( :er(m' clcomolq Co ‘Fb‘ngW
4 Na,SO; NiF, Be(NO2)» L Be(NOs)
Sod\um b [ {iy, Il
so i€ V“C‘Q@Fl)uorwe 19" ket T e
J MO(O?I);I) —b Ka2CG04 HgCh L chéztx
\ " { . clalor! v
rely Mradirnde | Rolade e R
Zn(H>P04); FesS3 Zn(HS), Ag:SO;3
-Z' 3 \ ‘\ c
")c“\:ﬂrgtpnf\ofﬁ!& (fon(m-')&.l"c\* Z s k Su [;JQ SJVCS\)I‘F\*@
ﬁbs(p(h)a 5 Zx(OH)4 AgS £ Argzsm
\ . [ e
o paoSP‘M‘k Ztrcm\umgr)w& $\W SUNQ 3 < '{&—
KaN ZrPO, Li,O Ag2S:03
F"‘"{S\S\IU"”JQ Z‘RMF\::(,FE‘.Z-& Letaum Q(f@ Sulver -HsioSolFSQ
T one SI. "‘:“e
B M WIS 2
r foor
= £\




Name 50 C HR.
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In the table below, fill in the formula of the ionic compound below its name:
Zinc sulfate Cobalt (II) carbide Silver selenide onium sulfide
Zn 30 Co,C AaSe (W), S
Lead (II) nitrate Silver oxalate Lead (IV) oxide Magnesium oxide
FL(No,S,,_ A9,C10y Pb0y MqO
Copper (I) sulfate Copper (II) sulfite Sodium bicarbonate Strontium h; hlorite
Cuy 0., CuS0, NaWCO, Se(d0),
Iron (TIT) oxide Copper (I) chromate Tin (II) sulfate Potassium bisulfate
Cadmium Chlorite Mercuxy (1) sulfite Potassmm bromide AluminuB oxide
0’@02 2 , My %
Tin (IV) carbonate Tin (ll) bicarbonate Calcium te Iron (TIT) hydyoxide
Sn(@y), (:[03 ), G0, Fe(M
Sodium hydroxide Potassium hydroxide Iron (Il) hydroxide Titanium (1) sulfate
a o :
NaOH K Ye ou) T3 ,804),
Manganese (IV) oxide Calcium fluoride
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Iron (IE) sulfite

Iron (I]) sulfite por
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Ammonium nitrate

N“\{Norz

Chromium (III) oxide

CV,_Og

Chromium acetate

Ce u,(@)z

Silver phosphate

A0,

Molybdenum (VD) Potassium permanganate Nickel (&.)jfo Lead (IV) oxalate
e Pb(cy0
L}
Zinc carbonate Lead (II) thiocyanate Cobalt (I1II) chromale Mercury (I) dichromate
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